
FRONT WHEEL COMPLETE V1.0

##-TO SPECIFY  COLOR*

BK-BLACK WH-WHITE LM-LIME SL-SILVER CH-BLACK AW-WHITE

1
BAG SADDLE LOWER SET 
P1C - 35H - FWASSM

2

3

M6 NYLOCK NUT 
06 - M44 - M6X6NL

M6X53 BOLT     
B1C - 03X - FWM653

4
M6X30 BOLT     
B1C - 07X - FWM630

5 FRONT WHEEL TUBE 
T1C - 01## - FW19XX

6

7

8

M4X31 BOLT     
B1C - 35X - FWM431

M4 NYLOCK NUT   
B1C - 37X - XXM4XX

FRONT WHEEL ASSEM 
P1C - 61## - FWASSM

4

2

9

6

7

M6X77 BOLT     
B1C - 02X - FWM677

BAG SUPPORT     
P1C - 19H - FWPAFG

FRONT AXLE BOLT 
B1C - 44X - FWM431

*

*

10

11




